
A A

R0.863 "

120° SPACING

R0.736 "

60° SPACING

SPIDER TOP VIEW

Ø2.05 "

ALIGNMENT "PIN" (TUBE)
(1/8" BRASS - 2.56" L)

EXHAUST TUBE
EXTENSION

(5/32" BRASS - 1.75" L)

EXHAUST TUBE BASE
(3/16" BRASS - 0.75" L)

1/8" EPOXY LAYER

BOTTOM PLATE

(1/4" PLY)

EPOXY CLAY

TOP RING

(1/4" PLY)

POWDER CUP

(BT-50 - 0.3" L)

EPOXY CLAY

ANCHOR PLATE

(1/4" PLY)

PVC SPIDER
CUTAWAY VIEWS

TO LAUNCH RAIL OR ROD

~0.6" VENT SPACE

VIEW A-A

0.125 "

0.25 "

ESTES

IGNITER

PVC SPIDER
FOR 7 X 18 MM CLUSTER

DESIGNED AND DRAWN BY
JOSHUA T. TSCHIRHART

NAR 48098
12 MARCH 2006

NOTE:  WING NUTS FOR FASTENING

BOTTOM PLATE TO SPIDER BODY

ARE NOT SHOWN

BOTTOM PLATE/ POWDER CUP
(TOP VIEW)

R0.775 "

SPACED 180°

Ø0.156 "

Ø0.125 "

HOLE FOR
#6 SCREW

ANCHOR PLATE
(TOP VIEW)

Ø0.125 "

HOLE FOR

#6 SCREW

Ø1.03 "

R0.775 "

1.55 "

ALIGNMENT PIN PLUG

(#2 SCREW)

HOLES FOR IGNITER LEADS

PVC PIPE BODY

(2" SCH 40 -- 2.05" ACTUAL I.D.)

MICRO-CLIP ATTACH POST

(#2 SCREW)

#6 x 3/4" SCREW


